Misc.
This is one of a series of review packets to refresh Algebra 1 topics for the Geometry student preparing to move on to Algebra 2. Examples, practice problems, and solutions are included.
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35. & =a®+ b’

30% = 18% + b*
900 = 324 + b?
576 = b*
=576 = Vb2
+24=1b

The length of the leg is 24.
36. F=d’+b?

&= (1.2)% + (1.6)2

® =144 + 256

=4
Ve

c=x

The length of the hypotenuse is 2.





image8.png
THE DISTANCE FORMULA ' You can find the distance between any two
points in the coordinate plane using a similar process. The result is called the
Distance Formula.

e Distance Formula

* Words  The distance d between any two points with coordinates (x;, y;)

and (x,, ;) Is given by d = V(x, — x;2 + (y, — yp)%

* Model

A,y 17

[ZZLIME® Distance Between Two Points
* Find the distance between the points at (2, 3) and (~4, 6).

d=V(x,—x)*+(,— v,? Distance Formula
SVEA=22 46 -3 @ =3 adny) = (46
=V(-62+ 32 simplify.

V5 Evaluate squares and simplify.

3V/5 or about 6.71 units
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Exercises Find the distance between each pair of points whose coordinates are
given. Express in simplest radical form and as decimal approximations rounded

to the nearest hundredth if necessary.
41. (9, -2),(1,13) 42. (4,2),(7,9 3. (4,-6),(-2,7)

4. 2V5,9,4V5,3) 45 (4,8),(-7,12) 6. (-2,6),(5,11)
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46.d= VG, —x)7+ 0, ~7°
VBB A1 -6

Neer

V49 + 25
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44.d=V(x,— xl)2 + 0, —yl)i
=V(@V5 -2V5)2+ (3-9)%
2V5)* + (-6)
V20 + 36

45.d =V, —x)"+ (4, —y)?
=V(1-97+ (12-8)?

VEI)Z+ @)

V121 + 16

V137
11.70

o
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41.d=Vix, —x)7+ (o, —y)?
=Va-9%+ 13- (-2)1%
V(=8 + (15)*
V64 + 225
V289
17
42.d=V(x, - x1)2 + 0, 7y1)2
VT =9Z+ (9-2)7?
=2+ 72
=V9+49
=58
= 7.62
43.d=Vx,—x)"+ @, —y)?
= V(22— 9>+ [T-(-0)]*
V(=67 + (13)7
V36 + 169

V205
14.32

o
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Sine, Cosine, and Tangent "

Find the sine, cosine, and tangent of each acute angle
of ARST. Round to the nearest ten thousandth.

Write each ratio and substitute the measures. Use a
calculator to find each value.
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TRIGONOMETRIC RATIOS  Trigonometry is an area of mathematics that
involves angles and triangles. If enough information is known about a right
triangle, cerfain ratios can be used to find the measures of the remaining parts
of the triangle. Trigonometric Fatios are ratios of the measures of fwo sides of a
right triangle. Three common trigonometric ratios are called siig, cosine,

and fangent

igonometric Ratios

measure of leg opposite ZA

« Words sine of £A = T ypotenuse

measure of leg adjacent to ZA
measure of hypotenuse
measure of leg opposite £A

tangent of LA = Trcacure of leg adjacent to LA

cosine of LA =

« symbols sinA - ¢

* Model B
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Exercises For AABC, find each value of each trigonometric ratio to the nearest
ten thousandth.

55. cos B 3

56. tan A

7. sinB o s

58. cos A

59. tan B & o
60. sinA ot

Use a calculator to find the measure of each angle to the nearest degree.

62. sin T =0.1212 63. cos B = 0.9781
65. sin A = 0.4540 66. tan Q = 5.9080
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55.

57.

59.

63.

65.

28

cos B-2
~0.5283
sinB -2
~0.8491
tan B -2
~ 1.6071
tan M = 0.8043
M = tan™'(0.8043)
=39°
cos B = 0.9781

B = cos1(0.9781)

=12°
sin A = 0.4540
A

=27

sin~1(0.4540)

56. tan A — 2
= 0.6222
58. cos A =2
= 0.8491
60. sinA =2
= 0.5283
62. sin I = 0.1212
sin~1(0.1212)
=7
64. cos F = 0.7443
F = cos™1(0.7443)
20

66. tan @ = 5.9080
Q = tan™(5.9080)
= 80°
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THE PYTHAGOREAN THEOREM  In a right triangle, the
side opposite the right angle is called the hypoteniise. This side
is always the longest side of a right triangle. The other two sides

n

are called the legs of the triangle. g plenuse
To find the length of any side of a right triangle when the

lengths of the other two are known, you can use a formula

developed by the Greek mathematician Pythagoras. -

The Pythagorean Thi

« Words  If aand b are the lengths of the legs of a
right triangle and c is the length of the ¢
hypotenuse, then the square of the length of
the hypotenuse is equal to the sum of the
squares of the lengths of the legs. b

« Symbols =2+ b2

Find the Length of the Hypotenuse

Find the length of the hypotenuse of a right triangle if a = 8 and b = 15.
2=a2+ 12  Ppythagorean Theorem

a=8andb=15

simplify.

Take the square root of each side.

Distegard —17. Why?

The length of the hypotenuse is 17 units.
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Find the Length of a Side

Find the length of the missing side.
In the triangle, ¢ = 25 and b = 10 units.
@=@+12  pythagorean Theorem

252=a?+102 b=10andc=25 . %
625 =02+ 100 Evaluate squares.
525 =a? Subtract 100 from each side.
V55 =a Use a calculator to evaluate \/525. 0
291~a Use the postive value.

To the nearest hundredth, the length of the leg is 22.91 units.





image3.png
2 =a?+p?
¢ = 30° + 16%
% =900 + 256
¢ = 1156
Ve = =156
=34
The hypotenuse is 34.
F=d+ b
¢? =62 + 107
¢ =36 + 100
=136
Ve = £V136
c=+11.66
The hypotenuse is 11.66.
2 =a’+b?
15% = 10% + b*
225 = 100 + b*
115 = b*
+VIT6 = Vo2
*£10.72 =
The length of the leg is 10.72.
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Exercises If c is the measure of the hypotenuse of a right triangle, find each
‘missing measure. If necessary, round answers to the nearest hundredth.

31.a=30,b=16c=? 32 a=6b=10,c=? 33.a=10,c=15b=7?
34.b=4,c=5,a 35. a=18,c=30,b 36.a=12,b=16,

Determine whether the following side measures form right triangles.

37.9,16,20 38.20,21,29 39.9,40,41 0. 18,V/24,30
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34. Z=d®+v?
56% = o + 4%
3136 = o’ + 16

3120 = o®
/3120 = Va®
+55.86 = a

The length of the leg is 55.86.
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37.
38.
39.
40.

no; 92 + 162 # 202

yes; 202 + 212 = 292
yes; 9% + 40% = 412

no; 182 + (V24)2 # 30%




